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Run 4481 mpswise, accO: All

Enilries: 3165&7

Mean: 82373 4 0.0043

Std Dy 24140 4 D.00%0
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AcciNAccD

Run 4481 mpswise, acc0: Beam ON, Laser ON

Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000
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Run 4481 mpswise, acc(: Beam OFF
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Eniries: 4003

Mean: 08256 +/- (L0024

Sid Dev: 0.1485 - 0.0007
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1.2 1.3
AccliNAccD

Run 4481 mpswise, acc0: Beam ON, Laser OFF

Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




Accl/MNACCD

Run 4481 mpswise, AccO/NAccO:mpsCoda, beam OFF
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